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/ Making Inferences from the Text

\

ey —— \

What I learned from the text: What I already know:

My inference:
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Vs - Answer Key N
/ Making Inferences from the Text \
’ SRS e \
What I learned from the text: I What I already know:

A large, international restaurant chain
wants to pay apprentices £119 per 35-hour
work week, or £3.50 per hour.

| Apprentices are trainees/ student workers.
] So, they should not do the same work as
| regular employees.

Apprentices would do the same work as
regular employees.

The minimum wage in the UK is £5.55 per
hour for 18-20 year olds and £4.00 for
under 18s.

My inference:
If the apprentice is doing the work of a regular employee, then they are not a trainee. This
restaurant chain is trying to pay regular workers apprentice rates in order to make more
money.
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